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Q.1. Attempt any five of the following: [10]

a)
b)

c)

d)
e)

f)

9)

h)

Use the Newton-Raphson to obtain a root, correct to three decimal places, of each of the
following equation x> — 5x + 3 = 0

Evaluate the sum S = 2 + /3 + /5 to 4 significant digits and find its absolute and relative
errors.

Explain the term ‘round-off error’ and round-off the following numbers to three decimal
places

(i) 0.0022218 (i) 0.7029 (iii) 2.36425 (iv) 68.46267

Find the second-degree polynomial which satisfy the set of values (0,1), (1,2), and (2,1).
For the following distributed data construct the difference table and find the value of V3y,
X: 160 165 170 175

y: 26.98 28.75 30.47 32.21

A function f(x) takes the values as given in the following table:

X : 1 3 4

fl) 4 12 19

Find f(x) when x = 5

Find from the table the area bounded by the curve and the x-axis from x = 6.47 to x = 6.52
x . 646 647 648 649 650 651 6.52

f(x): 193 195 198 201 203 206 211

From the following table of values of x and y, obtain Z—z forx = 3.1

X: 31 32 33 34 35 36
y: 3.320 4.055 4.953 6.046 7.389 9.025



Q.2. Attempt any four of the following: [20]

a)

b)

d)

Obtain a root, correct to three decimal places, of the equation: x> —x —4 = 0

using the bisection method

Give the sequence of steps in the regula-falsi method for determining a real root of the
equation f(x) = 0. Hence , find the real root, which lies between 2 and 3, of the equation
x logx — 1.2 = 0 to an accuracy of two decimal places

State Newton’s backward interpolation formula with assumptions.

Estimate by Newton’s method of interpolation, the expectation of life at age 36 from the
following data.

Age(years) 10 15 20 25 30 35

Expectation of life (years) : 353 324 29.2 261 232 205

Using Simpson’s % -rule with h = 1, evaluate the integral

7
= f(xz.logx)dx
3

Evaluate the following integral by Weddle’s rule correct to three decimal places taking 13

equidistant ordinates
6

1—fx2+2d
T )14 x2 x

0
Find the missing terms in the following:

X: 0 5 10 15 20 25 30
y: 1 3 - 73 225 - 1153
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